1/v/100/75)3 299 9WINSD A810 — N2 MHNDM MHNY nYav .5

(901) 122 PP MNP 9991 baka~i~2)) SN QOMNN/9712 1912 YNVY 51
29 %) | MDY | 4501 VAIRPYAY
nnmm y ’ ’
-5y Y et oyn ~329 nowvn | 1) 1y 702 2780 NYAPN N NNNN nYPN N Hyn /9% | MPON 7on Iy
PINR sonmy | s wp | hon 192135 (hon) NP onty @ 29913 1932 °NLY 39
nyapn 9 ' 959 9499
70| nyaypn (hown | V) (%) (MY 9oy @MY WPy (1)
() 4 350 13 221% 2,980 1,078 439 1,463 1,348 178 S
) 4 35% 11 221% 2,392 866 352 1,174 1,082 179 D””"?"“ N
(s 4 350 17 221% 3,855 1,395 568 1,892 1,744 180
R 41 221% 9,227 3,339 1,359 4,529 4,174 o
sHHYN
108.5% = 39 MNON? 2.5% + NDIN 6% + 100% (1)
MY INOWN 30% (2)
YN NOWN 80% (3)
oNTY T 10 (4)
MNP NMONY DNNNA (5)
2971072017 16 TN 16 Ty




